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‘:Dﬂve the Kelvin’s law for most
economwal size of conductrr
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: 'l‘he followmg data refers to a 50 Hz, 1 - S single-core "_.S{”- ~cable is to be
trahamission line . S1g) ' earth. Its con;llu:t:r
Length=20km w 1ts Bhfee insulating

Load delivered at receiving end -5 M'V
at 08 Pf (lag)

3 “;.‘ ¥ f,_'Re'sistance of each conductor
. =002 Q/km
n_.. éT Inductance of conductor =0- 65 mH/km

o VP .'Ehkoltage at the receiving end is required to
: '\- '. Be’ lﬁeﬁt at 10 kV.

‘; ‘ {a) sending end voltage and voltage-
! regulation of the line;

the value of capacitors to be placed in

pa.rallel with the load such that
regulation 1s reduced to 50% of that
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